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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1. Tijeel wewem @ W T W A st o
Candidate must write first his / her Roll No. on the question
Ao paper compulsorily.
¢ All the questions are compulsory.
3. WIS WA & 3w o M IW-qiwe H €1 e |
Write the answer to each guestion in the given answer-book
only.
4. fom gl ® aaiis @2 €, 39 991 F 3 % Wy 7 fod |
For questions having more than one part the answers (o those
parts are Lo be written Logether in continuity.
5. YT UR % fe=l ¥ #AUW e o GFE TR &1 A / o SmuE

J
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T v f2=st 9 & 99 1§ 98 9E

If there is any error / dilference / contradiction in Hindi and
English versions of the question paper. the question of Hindi
version should be treated valid.
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6. WY HE 3k Ui Wv I I ITEg HIAT

1-6 1 20 ¥1=g

7-13 2 40 =

14 — 23 3 100 7=

24 - 30 4 150 ¥1=8

Q. Nos. Marks per question Word limit of answer
1-6 1 20 words
7-13 2 40 words

14 - 23 3 100 words

24 - 30 4 150 words

7. WY HEA 31 WETEE w4 4 gafig § o 5 aiwm i w

Question No. 31 is related Lo map-work carrying 5 marks,

8. W HEN 158 17 i =i s F & | U979 9= 24§ 27
T 20 =il faweq ¥ |

Two questions are to be answered from Q. Nos. 15 to 17. There
are internal choices in Q. Nos. 24 to 27 and 29.

1929 # HIUH F ARK A F 1y F1 & 7
Who was the President of Lahore session of the Congress in 1929, 1
FH-H A IR AT F O F waee [ fave § =i o2

Which form of government is accepted throughout the world despite
of some shortcomings ? 1

wafE &9 f5d wed € 2

What is primary sector ? 1
A% SH T E ?

What is Bank Cheque ? 1

Sy | w2 Ay £ 7

What is meant by globalisation ? 1
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10,

11.

12.

13.

14.

sifem gl FA- 5 et § 2

Which are final goods ? 1
/ga?m@u HHHA 1 ATHHE T HIA

Clarify the meaning of international resources. 2

T TR w1 w9 fdand fafag |

Write any two features of Arid soil. 1+1=2

o1 T T SiE W HE ) EvE g 7

Why is conservation of forest & wildlife necessary ? 2
ATF e Ay FY s g ?

In your opinion how is '‘Dam’ uselul ? 2
Describe the geographical conditions for wheat farming. 2
o <y s ot = el | S T W E 7 W 99y |

Name the two rock series of two main geological ages in which coal

OCCUrs. 1+1=2

Yua F e serm s oW ol fawmm T e w0 TEe g Fhm
Tt |

"Iron and Steel industry could not develop [ully in India.” Give any two

reasons for this, 1L+ 1 =2

1907 # Tiffsit g e qwaF o1 A9 FEEd | SR Hasm Wi vy dUs! &
Name the book written by Gandhiji in 1907. Why did he adopt the

policy of Non-cooperation against the British to achieve

independence ? 1+2=23
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15.

16.

17.

18.

IQL

200

4 e

¥or ;. uvd TE 16 W 17 H 4l @rww & 3w Al
Note : Attempl any fwo queslions from Q. Nes. 15 to 17.
won favage T &1 9idg areasr HH F 99 @2 T 29 TEen #EE
ST g5 o 1| 3H YA H AT el o HEEa § 2 '
Between which two European power bloes was First World War
fought ? How far do you agree with the statement that ‘it was the first
modern industrial war' ? 1+2=3
TR F A AT wEE § A Fiied | 9E wHEe el 9 A W ?
Describe the chawls of Bombay in vour own words. From where was
this system adopted ? 2+1=3
IR T &9 F1 FgarE | Hegl A % Siad WOqgH A HE A guE Faed |
State any three impacts of the abundance of labour in the market on
the life of labour class. 3
e B HfEeE S S 9w e o e e w1 wtes i
Yl W9TET FAM 84 7 FeH IS T 7
What steps were taken to make the third tier of Indian L!L‘II'IUI.'?I'FLHIL‘
system more powerful & effective by amending Constitution of India ?

1+1+1=3
N TS TEEr, Tdmn ot &y weR § 7 a9d ghEwm F 9w § T
i
Is democracy accountable, responsive ar.ﬂ_I legitimate government ?

Give reasons in favour of your view., 1+1+1=3
AT faam | wEEtE A & qEveE § 2 #E a fag i |
In your view, why is public sector a must 7 Write any three points.

e I 1 =3
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Give any three suggestions 1o Increase activities of cooperatives in the

rural areas. 1+14+1=3
22/ dvdie 4 g v Tuw drefE ClEEa R TR T i s e e—
HITAT |

Explain the role of information and communication technology in

globalisation on any three bases. Lt Jom =2
23. 4NA H I94EE) AT 4 W 33 7 3y A= 1 95 FHifan |

Why did consumer movement begin in India ? Describe this

movement., 1+2=3
24, Isﬁﬂﬂﬁhﬁﬂwﬁ?ﬁaﬂ?ﬂﬁmmmﬁaﬁ%wmﬁmﬁ%
=1 ¥A T T 7
Aear

w%mmmwwmmmaﬁﬁqa

What elforts were made by religious movements of 18th Century for

the awareness against the western powers ? 4
OR
Explain the causes of becoming Great Britain as the 'Ideal Nation-
Slate,
25.ﬁ9ﬁwﬁéﬁmﬁ@mﬁqﬁﬁnﬁwaﬁaﬁmmwﬁﬁm ?
-

Haar
afem wmE F Afeenadl 1 3oy S ¥ w0 der o o
How did the print culture influence the women in the end of the
19th Century ? 4
OR
What was the contribution of South Indian women in the novel
writing 7
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28.

6
s 3 Hfeenst ® et whaue 33 i w0 wEw R T 2 feEe
I |
STl
sy Tt § i i e Hie |
What efforts have been made for giving political representation to
women in India ? Explain. 4
OR
Explain the role of 'Caste’ in politics of India.
s 3 T gel ¥ wme fEel 9n AT e Fif |
AT
Explain any four challenges belore political parties in India.
1+1+1+1=4
OR

Write four policies-programmes of the Bhartiva Janata Party and
Indian National Congress. 2+2=4
mwﬂﬁﬁmﬁaﬁgﬂﬁﬁwﬁamﬁﬁﬁqaﬁﬁaﬁﬁmmm% 7
According to your view which points can be added in redefining the
democracy 7 l1+1+1+1=4
mgﬁﬁﬁm#w#mwmﬁﬁ#ﬂmﬁmaﬁwméﬂ
TEvE F § 7 FHEE |

2ean
mﬁﬁqﬁzﬂ,ﬁmﬁm#wﬁﬁmamwﬁaﬁé 7
TR |

In your point of view. which is much betlter measure Lo COMpAre the
development between lwo states on ihe basis of educational level ?
Explain. 1+3=4

OR

In your point of view, what should be our goal on sustainability of
development ? Explain. 1+3=4
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30. =1 W sfira foorforat fefiam

gtz

() =R =
(i) @A F= )
Write short notes on the following ;

i) Internatlional trade

(i) Geothermal Energy. 2+2=4
(%) feu 7o wéﬁvmmﬁﬁmﬁf@ﬁﬁraﬁﬁﬁaﬂfm ;

) =

(i) o |

(@) faw T e 3 Y A A e A st S
() EEIEE TEE I T
(i) HATEE FE-UE
(i) F T TE-EAFET |

~ [a) Mark the following in the given outline mapofIndia: 1+ 1 =2

(il  Bengal
() Punjab.

(b) Mark the following in the given outline map of India :
l+1+1=3

(i) Jawaharlal Nehru Seaport
(il Cotton textile industry-Porbandar

(il Woolen textile industry-Bikaner.
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